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BACHELOR OF SCIENCE 
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Term-End Examination 
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CHE-05 : ORGANIC CHEMISTRY 

Time : 2 Hours 	 Maxiinum Marks : 50 

Note : Answer all the four questions. 

1. Answer all the five parts : 	 1x5=5 

(a) Give the IUPAC name of any one of the 
following : 

(i) CH8  — C = CH — CH = CH2  

CHs  

(ii) CH3  — CH — CH— CH = CH3 
 I 	I 	I 

, CII3  CH3  Cl 

564 (B-24) P. T. 0. 
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(b) Write the structure of any one of the 

following : 

(i) 2-Ethanoyl pyrrole 

(ii) 3-Nitrothiophene 

(c) Which one of the following compounds has 

a higher boiling point ? 

(i) o-Hydroxybenzaldehyde 

(ii) p-Hydroxybenzaldehyde 

(d) Which one of the following compounds will 

have zero dipole moment ? 

	

Br 	Br 
/ 

(i) \ C = C 

	

H 	H 

Br 

	

\ 	/ 
(ii) ,C = C 

	

H 	Br 

(e) Why is glycerol miscible with water ? 

2. Answer any five parts : 	 2x5=10 

(a) Name the reaction and write the structure 

of product that is formed when 

benzaldehyde is treated with aq. ethanolic 

potassium cyanide solution. 
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(b) Complete the following reactions : 
NO2  

Fe + NCI 
> ? 

Zn + aq. NH4 CI 	e > 

(c) Write the structures of the alkenes which 

on ozonolysis give : 

(i) only acetone 

(ii) formaldehyde and benzaldehyde 

(d) What is the octane number ? Write the 
structure of the compound which has 
octane number 100. 

(e) Write the reactions and the reagents for 
the conversion of C6H5CONH2  to : 

(i) C6H5CH2NH2  

C6H5NH2  

(f) Write the structures of the following : 

(i) R-2•Pentanol 

Z-3-Bromo-2-hexene 

(g) Which one of the following is the most 

basic and why ? 

(i) 

P. T. O. 
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CH3CH2CH2NH2  

3. Answer any five parts : 	 3x5=15 

(a) How is CH3CH2CH2MgC1 obtained ? How 

can it be converted to the following ? 

(i) CH3CH2CH2COOH 

CH3CH2CH2OH 

Explain, why 1-nitronaphthalene is 
obtained on nitration of naphthalene at 
room temperature. 

Complete the following reactions : 

(i) 	+ Br2  —> ? 

+ CH3ONa + CH2I2  —> ? 

H 

 

	 ? 

575 K 
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(d) Write the products formed when bromine 

adds to 1, 3-butadiene. Also identify the 

major product. 

(e) How will you convert pent-2-yne into the 

following compounds ? 

(i) cis-2-pentene 

trans-2-pentene 

(iii) a-pentane 

(f) Complete the reactions,given, below : 

(i) C6H5COC1 H2 ,Pd  
BaSO4  

CH3COCH3 	ZnIHg > 9 

Conc.HCI 

C6H5N = N*C1- 	C6H5C1 

(g) What is Williamson synthesis ? Write its 
mechanism. 

4. Answer any five parts : 	 4x5=20 

(a) Write short notes on any two of the 
following : 

(i) Diazotisation 

Steric hindrance 

MarltoWnikoffs rule 

P. T. O. 
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(b) Write the mechanism of the following 

reactions : 

(i) Cumene phenol process 

(ii) Nitration of benzene to nitrobenzene 

(c) Explain any two of the following : 

(i) Mutarotation 

(ii) Secondary structure of proteins 

(iii) Nucleosides and nucleotides 

(d) Write one example each of the following 

reactions : 

(i) Hell-Vollhard-Zelinski reaction 

(ii) Trans esterification 

Dieckmann condensation 

(iv) Rosenmund reaction 

(e) Explain SN1  reaction. Which one of the 

following alkyl halides will be the most 

reactive in SNI reactions and why ? 

(i) CH3C1 

(ii) C6H5CH2C1 

(iii) CH3CH2CH2C1 
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(f) (i) Arrange the following in the 

increasing order of their reactivities 

towards nucleophilic substitution 

reactions : 

(1) C2H5CONH2  

(2) (C2H5CO)20 

(3) C2H5C0C1 

(4) C2H5COOC2H5  

(ii) Explain the terms 'absolute ethanol' 

and 'rectified spirit'. 

(g) Write the stereoisomers of HOCH2CHOH 

CHOHCHO and classify them as 

enantiomers and diastereomers. 

P. T. O. 
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z. 1 t-05 : chi -Kt) TRIER 

T1727 : 2 true 	 aft1W 87* : 50 

9-12' : 71# air prr/i* 	tfwv 

1. lit rata %Tr* 	51 	 : 	1x5=5 

(Ti) 141 Cl 	Ti 	fir? WW 

silt IL lt R. It 	tr-4R 

(i) CH3  - C = CH - CH = CH 2 

 CH3  
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(ii) CH3  - CH- CH- CH -CH 3  
I 	I 	I 
CH3  CH3  Cl 

	

(gi) r-Pirorticf 	chti c%. 	kivq-ff 

furER : 

(1) 2-1eir9zru Ravi 

3-91-021Mith,ff 

	tqci 	# f*-#y1rta 	Wittit'w 

after -Orr ? 

(i) ailtii-614itttaisi4R-E6 	Ns 

br-614§ictii 	 

(M) 	cei iscf 	%IT 41 14) 	feerd 

	

angif 701. 	? 

Br 	Br 

(i) 
\

C = C
i 

H 	H 

P. T. 0. 
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Br 

C = C 

H 	Br 

(u) ic-R-Rwr Trf frmuhr 	i f t ? 

2. rct)-67 VFW 1-1Pli 	art 411,7N1 : 	2x5=10 

(V) 7-4 .art-ss razi TWA.  4 	 

t~i~ tiffs 	11T21 	 •71101 t 

V1 d0-11c 	 at1r7TIT 

7114 411,31q1 

(V) fiiikifisti afewqratt 	-4-PAR : 

Fe + HCI 	
? 

Zn + aq. N114 Cl 

(7) 
z-q "k" -191 	tioiffitt rrifiv 'NT* 

at-41911-eripT A Ptiallsd srmr 	: 

(1)  
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err our 	* ? en.  m-1 

	 Rifigtk r i alitff *MT loo 

61a1ti 

c6H5comi2 * kiireirtga 4 tc,t-atur * 

	

fuq afilfwzrr tt 	furgr‘ : 

(1) C6H5CH2NH2  

C6H5NH2 

(‘) 14-1 clrt9A 	Httlit rClr4siq : 

(i) R_2-ara1r 

Z-34011-2444-4 

(w) 	(Et 1:1 Thsrff--131 IWO Haw AS 

ath wrtY ? 

(1) 

P. T. O. 
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NI-12 

CH3CH2CH2NH2 

3. f-*- 1 	zwt 	: 	3x5=15 

(V) CH3CH2CH2MgC1V).  ffr AVIT 3117f 

Alclf 	? 	f14-irtifigcr -4 Rho sobl( 

Nfigfild ccht11 	tichif t 

(i) CH3CH2CH2COOH 

CH3CH2CH2OH 

(N) vTRICM VWAR 	4Tald1ff Val' UR IR 

-1151chtur t 1 --RITAREt&ff-Vii 31TRI 510? 

*1 

(IT) -Hi igcr airl-a71811 	qtr 	: 

(i) + Br2  —> ? 



HNO3  
> ? 

575 K 
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CH3ONa CH2I2 ? 

() 1-4Ptegsrft 	wl 	chlizsp4 : 

(i) C61-15COCI H2 ,Pd 

BaSO4  
	> ? 

P. T. O. 
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(iii) C6H5N = N±C1- 	? > C6H5 C1 

(W)     qzff nil 	? 	 

fwzrrea ffifiggi 

4. f W * dit `NK : 	4x5=20 

(ni) F-dWcaai t 	4t TR ifkrqr 
zwru14 fafuR 

(i) 6141ict  u 1 

(ii) 	cm 

(iii) Mich ch1H, fjq 

fti~ rMrzvtt ataztra4 	fwErrf-artr IFFurR : 

(1) nii14 71-4fe srwR 

(ii) td-41-r* rwlentur 

(or) ri&ifilfigcr t 	tm, rr-45 ►  wlf-A7 : 

w Trr-{-4-4 wir trh 

ta-19Y 	fgaltiv 41,411 

wirwrailcra 	•41, aleiairarg 
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(ti) 	ci 	3fricwzrra4 	f-aR welch wr 

7*-  dcmvir tNg 

(i) hralurt-4C4ca afitth-T 

for \ltd.( crvor 

iscroil-r to114 

(iv)n-  afifth-trr 

(z) SN' aifferrwm 	cgiscr -41-41/1 Pvirdisicr 
• 

-11t #f-. 1T C r 	urrg SN1 

afrifwmalY 4 Tr.44 aferw 	criquki tir 

"Orr 41-{ 	? 

(i) CH3C1 

C6H5CH2C1 

CH3CH2CH2C1 

P. T. O. 
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(i) 1 4-i tad 	Thi 	dig) 	•9 

sifffm-49. 	aff4rnrail? 	* 	Tit 

afifwzma-d-drall * wqa a 

r--arcerd a 

(1) C2H5CONH2  

(2) (C2H5C0)20 

(3) C2H5C0C1 

(4) C2H5COOC2H5  

(11) 4  Trivq:g 721-4M' * tilWRicr feirte' 

4-4 	06114.941( WWWZI 

(U) HOCH2CHOH CHOHCHO * 	CH 

Will 4 1 • T1 CS 	.14 reti 

El**e. kg gia .# *Tr '4 qiiitio 

CHE-05 	 9,000 
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